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QUESTION 1

DB2 offers compatibility features through the DB2_COMPATIBILITY_VECTOR registry variable or the SQL_COMPAT
global variable that improve application compatibility with which of the following? (Choose two.)

A. Oracle

B. Sybase

C. Netezza

D. MongoDB

E. Microsoft SQL Server

Correct Answer: AB

QUESTION 2

A portion of your database tables are used for OLTP-type processing and another portion are used for more analytical
queries. There is a small subset of tables that are used in both of these usage patterns. What could you use to derive
the analytic improvements offered by BLU technology in such an environment?

A. Shadow tables

B. Range-partitioned tables

C. Materialized query tables

D. Multidimensional clustering tables

Correct Answer: A

QUESTION 3

Which database object can be locked explicitly?
A. Row

B. View

C. Index

D. Table

Correct Answer: D
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QUESTION 4

The application owners say they need to be able to query a table and previous versions of that table. Which type of
table is appropriate to satisfy this requirement?

A. Shadow Table

B. Temporal Table

C. Range-Partitioned Table

D. Multidimensional Clustered Table

Correct Answer: B

QUESTION 5

If the LOCKSIZE for a table is changed from TABLE to ROW, which of the following is TRUE?
A. Concurrency may be improved

B. Lock escalation will be prevented

C. Query performance will be reduced

D. The number of locks for the same workload will be reduced

Correct Answer: A
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